A-—/20l, N-2IOl, V-=0
Class Objective:
I'l be able to learn connectors : (Verb+=0l, Adjective+20l, Noun+214l).

Introduction:

The purpose of the expression is similar to ‘but’ OR ‘so’ in English.

You can use as:
e BUT - Express that the 2nd clause is opposite or contrary to the 1st clause OR
e SO/AND - Express that the 1st clause provides reason or background information for the 2nd
clause. (similar to : A/V-OH/O{ M grammar).

Concept A: But, However, Although

e This pattern is used when the information in the second clause of the sentence is opposite of,
in contrast to, or an unexpected result of what is presented in the first clause.

e |t corresponds to ‘but’ in English.

Sentence pattern for using this grammar will be:
e When added to an adjective ending in a vowel, -+ 0 is added
e When added to an adjective ending in a consonant, -20| is added
e For present tense verbs & past tense verbs, -=0| is added.

Conjugation example:

1. Present tense :
a. Adjective + -—/20l: (e.g Ol 220, B2, 20I)

AL — 24l = big/tall
20— 220 = low
*HC — HOl =far
MO — 20 = short
o — E—ITHI hot
s — =20 = cold
=k 24} "a"*jFHI = red

b. Verb+ =0l (e.g 20, &4=d)

*&H 0 — At=0l = to live
=t —» ==0 =to die
*&Ch — ==0 =to listen

26t — Zot=0l = to speak
UL+ =0l = A=0l = to be
SiCt+ =0l = 8l=0l = not to be

c. Noun + O|C}OILICH+ — O
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